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BE(vetlC) DB

%

wry) () (VECTOR)
@ (Bim) @) (VetA) @I (

veTm
[ -1 0 ]

1

VctA e VctB

3)

OOE OE O3

() (VECTOR) @) (VctA)

B (VECTOR) @ (
(E)(VECTOR) (@) (

Dot)
VctB) F)

Ans + (Abs(VctA) x Abs(VctB))
2] (Abs)

() (VECTOR) (@) (VctA) ) &)
(Abs) ) (5) (VECTOR)

@(vetB) D3

cos™' Ans

3 (cos ) I B

VctA x VctB

(8)(VECTOR) (3)(
(8)(VECTOR) (a)(

Abs(VctAns)

VctA) (X)
VctB) (=)

(Abs) ) (8) (VECTOR)

[E)(VctAns) D) =)

VctAns + Ans

(5)(VECTOR)
(6] (VctAns) (F) (wg) (5)

3 (VetB) 01 [ mp | 1.67262158 x 10 kg
BEA3 02 [ mn [ 1.67492716 x 10 kg
. Ve 03 | me | 9.10938188 x 10" kg
tommn 04 | mu | 1.88353100 x 10 kg
4 05 | a0 | 0.5291772083 x 107"° m
06 | h | 6.62606876 x 10°* Js
07 | uN | 5.05078317 x 107 JT~'
= - 08 | uB | 927.400899 x 10*° JT~'
i . 09 | h | 1.054571596 x 10°* Js
4 10 | o | 7.297352533 x 10~
11 | re | 2.817940285x 107 m
12 | Ac | 2.426310215x 10 m
B 13 | yp | 2.67522212x 10° s'T™
Vorm 14 | Acp | 1.321409847 x 107"° m
Vi 0 15 | Acn | 1.319590898 x 107 m
s 16 | R | 10973731.568549 m”'
17 | u | 1.66053873 x 10" kg
8] 18 | up | 1.410606633 x 10 JT~'
” wm 19 | pe | —928.476362 x 10 JT™'
roo- 20 | un | —0.96623640 x 107 JT
2 21 | uu | —4.49044813 x 10> JT™°
22 | F | 96485.3415 Cmol™
23 | e | 1.602176462x107"° C
24 | NA | 6.02214199 x 10® mol™
™ 25 | k| 1.3806503 x 10 JK™
WetA-Yeth 26 | Vm | 22.413996 x 10° m® mol
11 27 | R [ 8.314472 Jmol' K™
28 | Co [ 299792458 ms™
29 | C1 | 3.74177107 x 107" Wm?
30 | C2 | 1.4387752x 107 mK
31| ¢ | 5670400x10° Wm?K™*
32 | g0 | 8.854187817x 107" Fm™
B 33 | po | 12.566370614 x 107 NA=
[ o A 34 | ¢o | 2.067833636 x 107™° Wb
35| g | 9.80665 ms?
a 36 | Go | 7.748091696 x 10° S
37 | Zo | 376.730313461 Q
38| t | 27315 K
39| G | 6673x10" m’kg's”
— 40 [ atm [ 101325 Pa
AhsCVCtD) m
4 [MATH] (CONST) @ECE
COMSTANT Ca .
@ (VECTOR) Humber al-4a7
@) (Dim) (@ (VctB) [__1] 299732453
3
p2 2P | B - e
e Vel MATH (CONST)
Lo 2 -] 3] B) @ ()
5] 0] Math 0] Math
1-{0 - 1+{eel
veTm
Veta-Yoth (CONST) ’
1 B B (1o B
0] Math 0] Math A
1+{zapal 1=feabn
Ang=CAkECiotA)xs 293792468
-8, 316227766
01 [in »cm 1 [inch] = 2.54 [cm]
T 02 [cm P in 1 [cm] = (1/2.54) [inch]
cos1CANS ) 03 |ft» m 1 [ft] = 0.3048 [m]
189, 4749400 04 |m » ft 1 [m] = (1/0.3048) [ft]
05 [yd > m 1 [yd] = 0.9144 [m]
fn . 06 |m » yd 1 [m] = (1/0.9144) [yd]
07 [ mile » km 1 [mile] = 1.609344 [km]
-z 08 | km » mile |1 [km] = (1/1.609344) [mile]
ﬁbs('un'cté:ﬁms) 09 [n mile »m 1 [n mile] = 1852 [m]
10 [m » n mile 1 [m] = (1/1852) [n mile]
4 11 |acre » m* |1 [acre] = 4046.856 [m?]
” G0 12 | m® » acre 1 [m?] = (1/4046.856) [acre]
femreee 0, 3333 -a.68) 13 [gal (US) » £ |1 [gal (US)] =3.785412[¢]
-A, EEEEEEEEET 14 | £ » gal (US) |[1[2]=(1/3.785412) [gal (US)]
15 |gal (UK) > £ |1 [gal (UK)] = 4.54609 [ £ ]

(I T

16 | £ » gal (UK)

1[£]= (1/4.54609) [gal (UK)]

17 |pc » km

1 [pc] = 3.085678 x 10" [km]

18 | km » pc

1 [km] = (1/(3.085678 x 10"%)) [pc]

19 | km/h B m/s

1 [km/h] = (5/18) [m/s]

20 [m/s » km/h

1 [m/s] = (18/5) [km/h]

21 |lozP» g 1 [oz] = 28.34952 [g]

22 |gpoz 1 [g] = (1/28.34952) [0z]
23 |Ib » kg 1 [Ib] = 0.4535924 [kg]
24 |kg > Ib 1 [kg] = (1/0.4535924) [Ib]
25 |[atm » Pa 1 [atm] = 101325 [Pa]

26 |Pa » atm 1 [Pa] = (1/101325) [atm]

27 |mmHg » Pa

1 [mmHg] = 133.3224 [Pa]

28 |Pa » mmHg

1 [Pa] = (1/133.3224) [mmHg]

29 [hp > kW

1 [hp] = 0.7457 [kW]

30 [kW » hp

1 [kW] = (1/0.7457) [hp]

31 | kgf/cm® » Pa

1 [kgf/cm®] = 98066.5 [Pa]

32 | Pa P kgf/cm® | 1 [Pa] = (1/98066.5) [kgf/cm®]

33 [kgfem» J

1 [kgf + m] = 9.80665 [J]

34 |J > kgfem

1 [J] = (1/9.80665) [kgf - m]

35 | Ibf/in® » kPa

1 [Ibf/in?] = 6.894757 [kPa]

36 | kPa » Ibf/in®

1 [kPa] = (1/6.894757) [Ibf/in?]

37 [*F»°C__ [tPFl=(t-32)1.8[C]
38 |°C > °F t[°C]= (1.8 x t + 32) [°F]
39 [J» cal 1 [J] = (1/4.1858) [cal] *
40 [cal » J 1 [cal] = 4.1858 [J]
[ #118 [ENEEI
::: &) (8)(CONV)
5 - [
B [_]
@ @ (cmpin) ¢ O
Benbin Bonbin
-
B 1968563337
IBEEN 100g=70z
[UNE] BO® (CONV)
o o |,
? [
@ @ (g»o2) e B
1Barozl o |18z .
B 3.527396584
EZEXY sic-2°F
LINE B30 (CONV)
e o |REEE,
B [__]
@E(CHF) PE)
o o}
~31°0HoF| -a1ocKeF
-
B -23.8
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